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Section : English Language (Basic Knowledge)

Q.1 Identify the segment in the given sentence which contains the grammatical error.
Soni take her daughter to the park in the evening in a stroller.
Ans x 1. in the evening
J 2. Soni take her daughter
x 3. in a stroller

x 4. to the park

Question ID : 4244291317
Status : Answered
Chosen Option : 2

Q.2 Select the INCORRECTLY spelt word.
Ans X 1. Recurrent

J 2.Unpretensious
X 3.Excellence

x 4.Dilemma

Question ID : 4244291334
Status : Answered
Chosen Option : 4

Q.3 Select the word which means the same as the group of words given.
A type of magic in which spirits, especially evil ones, are used to make things happen
Ans J 1. Sorcery
x 2. Mimicry
x 3. Alchemy
x

4. Chemistry

Question ID : 4244291335
Status : Answered
Chosen Option : 3




Q.4 Select the most appropriate option to fill in the blank in the given sentence.

We must not take the future for granted; rather, we should enjoy the joys of our humdrum
lives.

Ans x 1. future

2. habitual

X X

3. average

<

4. everyday

Question ID : 4244291339
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives
given. Select the most appropriate option for each blank.

One of the reasons we fail to talk convincingly about climate change is that we present it as
something “out there”. We (1) to make it clear (2) it's linked to (3) daily
decisions, such as walking (4) driving, and not talk about it in (5) of abstractions.

SubQuestion No : 5
Q.5 Select the most appropriate option to fill in blank number 1.

Ans x 1. use

2. know

3. need

X € X

4. keep

Question ID : 4244291320
Status : Answered
Chosen Option: 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives
given. Select the most appropriate option for each blank.

One of the reasons we fail to talk convincingly about climate change is that we present it as
something “out there”. We (1) to make it clear (2) it’s linked to (3) daily
decisions, such as walking (4) driving, and not talk about it in (5) of abstractions.

SubQuestion No : 6
Q.6 Select the most appropriate option to fill in blank number 2.

Ans v, that
2.if

3. then

X X X

4.s0

Question ID : 4244291321
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives
given. Select the most appropriate option for each blank.

One of the reasons we fail to talk convincingly about climate change is that we present it as
something “out there”. We (1) to make it clear (2) it's linked to (3) daily
decisions, such as walking (4) driving, and not talk about it in (5) of abstractions.

SubQuestion No : 7

Q.7 Select the most appropriate option to fill in blank number 3.

ans ¥ 1o
x 2. their
&3 muon
x 4. those

Question ID : 4244291322
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives
given. Select the most appropriate option for each blank.

One of the reasons we fail to talk convincingly about climate change is that we present it as

something “out there”. We (1) to make it clear (2) it’s linked to (3) daily
decisions, such as walking (4) driving, and not talk about it in (5) of abstractions.

SubQuestion No : 8

Q.8 Select the most appropriate option to fill in blank number 4.
Ans x 1. before
2. never

3. also

L XX

4. or

Question ID : 4244291323
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives
given. Select the most appropriate option for each blank.

One of the reasons we fail to talk convincingly about climate change is that we present it as
something “out there”. We (1) to make it clear (2) it's linked to (3) daily
decisions, such as walking (4) driving, and not talk about it in (5) of abstractions.

SubQuestion No : 9

Q.9 Select the most appropriate option to fill in blank number 5.
Ans ! 1. terms
2. voices

3. words

X X X

4. things

Question ID : 4244291324
Status : Answered
Chosen Option : 1

Q.10 Select the word which means the same as the group of words given.
A deep fissure in the earth's surface

Ans x 1. Tremor

2. Volcano

3. Earthquake

XX

4. Chasm

Question ID : 4244291336
Status : Answered
Chosen Option : 2

Q.11 Select the most appropriate ANTONYM of the given word.

APEX
Ans x 1. Pinnacle
2. Force

3. Base

X & X

4. Asset

Question ID : 4244291329
Status : Answered
Chosen Option: 3




Q.12 Select the most appropriate meaning of the underlined idiom in the given sentence.

Have you heard the news that Hema is looking for greener pastures?

Ans x 1. has been fired
J 2. exploring new opportunities
x 3. was feeling rejected

X 4. has been transferred

Question ID : 4244291331
Status : Answered
Chosen Option : 2
Q.13 Select the most appropriate meaning of the underlined idiom in the given sentence.
Ashutosh kept a stiff upper lip even when he was reprimanded in the presence of clients.
Ans x 1. behaved insolently
X 2. started sniggering
x 3. kept shouting
, 4. remained expressionless
Question ID : 4244291332
Status : Answered
Chosen Option : 3
Q.14 Identify the segment in the given sentence which contains the grammatical error.
The wedding reception will be hosted in Mumbai at a late date.
Ans x 1. The wedding reception
, 2. at a late date
x 3. in Mumbai
x 4. will be hosted
Question ID : 4244291318
Status : Answered
Chosen Option : 2
Q.15 Select the option that is the direct form of the given sentence.
Explaining her work she said that she made films for posterity to remember.
Ans x 1. Explaining her work, she said, “She makes films for posterity to remember.”
X 2. Explaining her work, she said, “I will make the films that will remember posterity.”
x 3. Explaining her work, she said, “She made films for posterity to remember.”
J 4. Explaining her work, she said, “I make films for posterity to remember.”
Question ID : 4244291316
Status : Answered
Chosen Option : 1







Q.16 Select the most appropriate option to substitute the underlined segment in the given sentence.
If there is no need to substitute it, select No improvement.

The book’s page seem to have been torn by someone.

Ans x 1. No improvement
x 2. The page of the book has seem
’ 3. The book’s page seems

4. The page of the book was seems

Question ID : 4244291327
Status : Answered
Chosen Option: 3

Q.17 Select the most appropriate option to fill in the blank in the given sentence.
A literature festival on the beach: With waves crashing on the beach, the Kerala
Literature Festival got in Kozhikode with a range of panel discussions in English
and Malayalam.

Ans J 1. underway

2. wayward

3. apart

X X X

4. away

Question ID : 4244291340
Status : Answered
Chosen Option : 1

Q.18 Select the most appropriate ANTONYM of the given word.

EXPUNGE
Ans J 1. Insert

2. Remove

3. Exhaust

X X X

4. Deplete

Question ID : 4244291330
Status : Answered
Chosen Option : 1




Q.19 Select the most appropriate option to substitute the underlined segment in the given sentence.
If there is no need to substitute it, select No improvement.

Have you got confirmation of the receipt of the donation?
Ans x 1. Has you got confirmations
2. No improvement

3. Did you got confirmation

X X<

4. Have you get confirmation

Question ID : 4244291328
Status : Answered
Chosen Option: 3

Q.20 Select the most appropriate synonym of the given word.

MOTIF
Ans x 1. Creation
2. Design

3. Reason

X X<

4. Purpose

Question ID : 4244291337
Status : Not Answered
Chosen Option : --

Q.21 Select the option that is the passive form of the given sentence.

This book explores the secret of leading a long and meaningful life.
Ans J 1. The secret of leading a long and meaningful life is explored in this book.
2. The secret of leading a long and meaningful life have been explored by this book.

3. The secret of leading a long and meaningful life had been explored by this book.

X X X

4. The secret of leading a long and meaningful life was being explored by this book.

Question ID : 4244291315
Status : Answered
Chosen Option : 1




Q.22 Given below are four jumbled sentences. Select the option that gives their correct order.

A. In reality, however, we exist in compartments, separated by walls of caste,
religion,and geography.

B. But we find that ignorance levels are growing as well because the rate at which weare
accumulating information is not commensurate with the rate at which our awareness is
growing.

C. Technologically we live in a borderless world.

D. Another paradox is that we take pride in describing ourselves as a knowledge-based
society.

Question ID : 4244291326
Status : Answered
Chosen Option : 1

Q.23 Select the correctly spelt word.
Ans J 1. Acquaintance

x 2. Exquiste

x 3. Squirrell

x 4. Recquirement

Question ID : 4244291333
Status : Answered
Chosen Option : 3




Q.24 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. The father then wanted his son to pick him up at four in the afternoon so that they
could go home together.

B. A teenager had just passed his driving test and was eager to drive his father’s car.
C. He asked his son to drop him at a place that was some 18 miles from home before
he took the car for servicing.

D. His father agreed.

Ans \, 1. BDCA
X 2.cBap
X 3.ADBC

X 4. BCAD

Question ID : 4244291325
Status : Answered
Chosen Option : 1

Q.25 Select the most appropriate synonym of the given word.

ACCRUE
Ans X 1 Range

J 2. Collect

X 3. Spread

x 4. Variety

Question ID : 4244291338
Status : Not Answered
Chosen Option : --

Section : General Intelligence

Q1 37 RweT #1797 FY e Il Tew ¥ o T9u ¥ S gEd §E & gge e @ g
418255 22 5 0
Ans X 1 244
X 2. 444
X 3 482
v 1 462

Question ID : 4244291344
Status : Answered
Chosen Option : 4




3 3P (1 F 4 Hpiat # F) F 79 Hiow HF & 718 ofie F @t | Asa TG S Fehel
2l

@4 iy

X 1. hael Ipiaar 3 3R 4

gfz.mm4
X 5 Fae Hpiaar 1 HR 2

X 4 IS HPfa 2

Ans

Question ID : 4244291359
Status : Not Answered
Chosen Option : --

Q.3 ™ FC &1 # ‘MENTION' @1 ‘NEITNOM" o g1 U s & PATTERN' & F2m form seam?

X 1. LSOIANN
v 2 NAETTRP
X 3. DOEECTS
X 4. RESWNDU

S

Question ID : 4244291351
Status : Answered
Chosen Option: 2




Q4 3§ fweT #1 Tw Hfow T § 718 agpla sEffea 81 (GA Fr ey 7@ §)

Question ID : 4244291362
Status : Answered
Chosen Option: 3




4

O 7 dEmr B e S SRR Avh @ TERE a6

81, 54, 36, 27, 22
Ans X 1. 54

V2 22

X327

X4 36

Question ID : 4244291347
Status : Answered
Chosen Option : 2

Q.6 v fAfPaa 3w sror F ‘DEAF &1 ‘HIGM' r@m srer §1 < smar & ‘CALM' =t Fam fRr@m meem?
Ans XK1 GOY Z

v2GFRT

X3FBXY

X4+EBXY

Question ID : 4244291349
Status : Answered
Chosen Option : 2

Q7 FEms & 9 wH==w Ry av § O ¥ O T T 0 o @ 5w € o oF aew R 3w
HIT BHOT F 90T Hi

Ans /1 (84, 116, 181)
X 2 (44, 89, 179)
X5 (71, 108, 182)
X 4 (35, 81, 173)

Question ID : 4244291345
Status : Not Answered
Chosen Option : --

Q.8 = oz v v ¥ T ¥ & e 7 e 9w @ T ¥ 3l o woee ¥ 39 e oreE @
Epcicmy

Ans g H@'ﬁ'ﬂ'éﬂﬂ‘
X 2 grpfas
X 3 FrraT
X 4 FAgER

Question ID : 4244291357
Status : Answered
Chosen Option : 3




rfaf@a 2o & wea-fEs (?) F T W HSaer & F 9hT H
a9 '2: 8; 6 15,°%, 157.5,/630 Ans
X 148
X 2 54
X3 49
v i 45

Question ID : 4244291346
Status : Answered
Chosen Option : 4

3T AT ARG F IIT T 3 BT 770 F97f F Feg geut w1 g@sss FwIor #ar g
Q.0 Hiee far, e, shafarame, sigfeare

«1@
®

Ans

X 2
X 3.

X4

Question ID : 4244291365
Status : Answered

Chosen Option : 1




e reel & T FF F T How (Rl T & i F T F T 9 W AEIRE) |

1. e
2. giderr
3. §eE

Qi + T

Ans xX1.2.1, 3, 4
X243 2 1
X332 1 4
vi13 12 4

Question ID : 4244291348
Status : Answered
Chosen Option : 4

v e g amr & ‘BOOK' #r 139 3k ‘PEN’ #t 302 foram =ar €1 38 swsm & ‘COPY’ &t &1
Q.12 forgr sre?

ans S 1. 167
v 2 2822

X 3 279
X 4. 2547

Question ID : 4244291350
Status : Not Answered
Chosen Option : --

38 e spfa &1 9w HfSw F T g@ar § geaaes Bed § T | 3
w2

0 | ece | ecece [ececece] m |

Q.13|
ans 1. @080000 @
v 2 0000000080

X3 00000000
X 41 000000000

Question ID : 4244291360
Status : Answered
Chosen Option : 2




Q.14 F & 715 3Pt H FETS F TF TS B A F FA AN FeA F Fh G@rw w@w g 7w wea

Ans

el WX & fmrs e

N
/

]

A

S A

X1

7 Pli@iid

=] - e
P )
P @ @
Y [
© @
AR
\ 4
® ® e ©
- Poi@:ed
@ ® e ©
AR

Question ID : 4244291363
Status : Answered
Chosen Option : 4




38 fwed & 79 H Swd el & Iw A I T § S RE v weg-gew & oedl & a9 g
Q15 X : e

ane ¥ 3TTTS ;AT
xz.gam:m
X 3. Eofa ; Solfaad
X 4 89X : S\ ET

Question ID : 4244291355
Status : Answered
Chosen Option : 3

3 R a1 e . o A s & @ w5 q@ v v @
Q.16 132 : 156 : : 462 : ?

ans ¥ 1. 503
v 2 506

X 3 505
X 4 484

Question ID : 4244291343
Status : Answered
Chosen Option : 2

Q17 © is the grandfather of S. B has only two sons E and F. A and B are the only sons of G. Who is the father of S?

Ans x1' B
X2 E

v A
X4 F

Question ID : 4244291354
Status : Answered
Chosen Option : 3

I - T v E, B § & e 7 Bl e @ T € i ue e ¥ W e seR-
Q.18 TF F T A

ane < 1. HGIFJ
v 2 TUSVR

X 3. DCEBF
X 2. RQSPT

Question ID : 4244291356
Status : Answered
Chosen Option: 2




Q.19 R v Fuat F oua ¥ 91 Fual # & T ATFL F T AAS g TARBT F 3T FUA F
HUT 9T HleT @1 vwy w@dr 2

YA :
1. TH HIAGR & 0T T Fer F F1ar 2l
2. 9E YHAN HT HIfged $T Fam F ST

3. 9g o &= sfomme & Fem & Sar € 3Uw O 9ge I e ag Prerw fr wew # smar
2l

4. g TigeT H FeT A I ¥ 2 T vger sfagrq Hr Fam & Fram 21

Ans X 1. TH =g $r e & of¥Er #F Far B
X 2 TH Maar #F e Hr Far & S 2
X 3 H of¥ar Fr Frer & Far & ST g
v o TH FEToER @ Frer & Fer # Frar g

Question ID : 4244291358
Status : Answered
Chosen Option : 4

Q.20 3ERT & 3W VAT FT 9IS FY o0 &7 T8 FER-4Tel F HAF T T WA T 4@ T &
Eni|
abb_b__bab__babbbb _

as Xiabbaabb
v2abbabab
Xsabbaaab
Xsbabbaab

Question ID : 4244291353
Status : Not Answered
Chosen Option : --

W Qrfaf@aT e 7 ‘a + b F AT hder gem?

[43+{9 x6 +3+ {12 + (1 +1 x3)}})] = 5% x 2P

Ans X 4 B
X2 7
Vi 4
X6

Question ID : 4244291342
Status : Answered
Chosen Option : 3




38 e # 999 FY, TwH AW U ¥ T T §, NG AR F A U< F g
Q.22 T o fo : S - : W@ oY o - 2

Ans x1m
X 2. BrEdr

X5 s
v fEeT

Question ID : 4244291352
Status : Answered
Chosen Option : 4

& T pia H FAT HT AT AR

Q.23
ans S 1. 16
v 17
X3 12
X413

Question ID : 4244291361
Status : Answered
Chosen Option : 2




Q24 & 7% 3P F TS HR TUOT W AN W, FHH TE FAT HiA AT M2

Ans

X1

X 2.

X s,

v

Question ID : 4244291364
Status : Answered
Chosen Option : 4




Q.25 TF FHA H F$ AT 76,000 FfoHE F 39 W HAfeT 71 9w W@ a9 F e 15 R F e w@
¥ IO T A 3qF IO F & @ F v 7200 Fr Feld @ §, o aawT F @ aw F
3T F FF rdar o= T FEM?

Ans X1 Z72,000
X 2. %75,000
W 3 369,000

X 4.%70,000

Question ID : 4244291341
Status : Answered
Chosen Option: 3

Section : Quantitative Aptitude(Basic Arithmetic Skill)

Q.1 1 1
4 1 .8 5 g .1 5
S o ot R -
57395 T.1°5°6 F A ¢
5 8
Ans x . l
30
1 8
2.5 =5
J 30
2
3- —
x 15
1
4_ —
x 15
Question ID : 4244291383
Status : Answered
Chosen Option : 2
Q.

’ afT x=3+2V2 & a'T'x2+x‘—2a=rm?r%':

Ans X 4 38
v 34
X 3 30
X4 32

Question ID : 4244291380
Status : Answered
Chosen Option : 2




A, B 3R C fmlr 30a W &= g §1 3% AB = AC = 72 em 3R 4BAC=90°, & fsar swe &

Q.3 Ans
X114 cm
X 26 cm
v:7cm
X4 7V2cm

Question ID : 4244291375
Status : Answered
Chosen Option : 4

ofe T T@¢ PA 3R PB, v% a1ea g P & &% O a1 W& 39 W W@ TR @ 78 &

ZAPB=70° ¥, ar £0AB ¥F T B
4 Ans
X 1. 40°
X 2 25°
v 3 35°
X 4 30°
Question ID : 4244291376
Status : Answered
Chosen Option : 3
IfE sin(A + B)=cos(A—B)=§ o A 3R B w5 i &, & @t A 3R B @ A (3 &) 7
Q5 I Ans

X1 A=45 3R B =45
X2 A=15 3R B = 45
X3 A=603TB=230
viA=453TB=15

Question ID : 4244291386
Status : Answered
Chosen Option : 4




TE FeAE H UE TEAHET A S el Rfied g 39 % cafeadr S @Ear & srewa fhar o, s
et # R@m mar §) 3watET & remae wY R A T v g & sew

N
400 400

=fFaal draear
K
#

15-20

a¥ 15-20 3R a¥ 20-25 Y TAg F AFAAl H o FEAT F, 9 30-35 3R I 35-40 3y
sttm#ﬁm#mwﬁ Ans

X1.13:9
X214 : 17
X315 : 19
vi14:9

Question ID : 4244291389
Status : Answered
Chosen Option : 4

. - AB—E : g o = o ¥ 3
AABC #, D, BC W & g &1 af& o=, 4B=75 3 sc=45° & G «BAD w%.Ans

a7
X 1. 50°

X 2. 60°

X 3. 45°

v 2 30°

Question ID : 4244291377
Status : Answered
Chosen Option : 2

Qs If& 8- 3P WEaT 43A5325B, 8 X 9 W Rssw B, @ A AR B & IhT SR

v 14
X215
X312
X418

Question ID : 4244291382
Status : Answered
Chosen Option : 1




uﬁ;x+§—4=0 ¥ A x?— 4 F oA R § @ =T e

Q9 Ans
X1 4

X2 1

V0

X4 2

Question ID : 4244291379
Status : Answered
Chosen Option: 3

AR AT & e w1 A Be 5w g9 @7 37 &)
Wmﬁmwmﬁmmmmaﬁ$m%ﬁﬁmmmmm,ﬁ
IafRy & g a7 {1 AR # 3euad w1 R A Be 77 g # 37 &

350 350

=Rl Hraear
g
g
g

10 mo
@ 6
g g (T )
R TR A IO F M A FA AFAAT BT HEAT F et SR safed sgEeT 25-30 a9 &
Q.10 o7
ans S 1.10.5%
X 2 12%
X3 15%
v 1 12.5%

Question ID : 4244291390
Status : Answered
Chosen Option : 4




&Y THET Iod Uk FJoIT FAIS &1 T Y T 3R ey oY wEer 22 om 3R 44 om B T B
Qg 5% & (m =)

ans 125 em
X2 3cm
v':35cm
X415 cem

Question ID : 4244291368
Status : Answered
Chosen Option: 3

T T Afgorer SeaE gifedr # 23,750 &1 T3 war &, S & 36 @fde 397 # 15% g1 585
g IF I AEE a7 F 25% 3HRX 8% FHw: TE A Raw wifodr, Hx Fyge v F FFer Fwar
Q2 & 38F T &= 3o ;M E:
e X 1.212,000
2 313,000
< 3 215,000

X 428,000

Question ID : 4244291371
Status : Answered
Chosen Option : 2

6sect 6 — o cosec’8

3
t0 = —, 0°< 0 <90° :
ll‘ﬁ"' ca V5’ SRS %’ o %se026’+§cosec‘26 S %‘
Q.13
2
X1 —
Ans 3
1
X2 —
2
1
X3 —
3
vl

Question ID : 4244291385
Status : Answered
Chosen Option: 3




If @ is a positive acute angle and tan26 tan36 = 1, then the value of @ is:

Q.14

Ans x 1. 450
X 2. 60°
X 3. 36°

v 18°

Question ID : 4244291384

Status : Answered

Chosen Option : 4




AT IS-3E w1 3Head wY AR T 7T 99 7 3o &

TE-3RE I 2018 # fFHr Fueir & Foic =77 (3o e e 7 A, B, C, D 3IRE W
Zefar Bl

AN

a1s megmﬁmmmmwmmt

Ans X 1. 450
X 2 56°
X 3 52°

W 1 540

Question ID : 4244291387
Status : Answered
Chosen Option : 4

Q.16 TS A F1 50%, G e B # e N B, 25% g Sl ¥l HEAA 3R B F g &

ans R 1.3:4
X23:2
vi1:2
X42:3

Question ID : 4244291373
Status : Answered
Chosen Option : 3

TR FACT A Wpa FEAH F AAE, T FARS Tpa TH FEAH F AT F 36 FA
21 I s e WA TEIIHT F AT IR & T IR PEH FEH F AT F R &, A 3REF

Q_"mﬁwm&ﬁmaﬂ'\qr—r%:

Ans x1' 36
X2 32
X318

v 24

Question ID : 4244291369
Status : Answered
Chosen Option : 4




AABC #, E 3R D, sj=mait AB 3t AC X g 5@ w&R § 5 24BC = 2ADE %1 3f& AE = 6 cm,
Q.18 AD =4 cm 3R EB = 4 cm &, & DC & &=18 &

as ¥ 11 cm
X2 8cm

X3 95 cm
X410 cm

Question ID : 4244291378
Status : Answered
Chosen Option : 4

TYIROT e R 5 It F R afy F 60% Fr g @ &1 3 WS T W ar a¥ F 26,250 Hr wH
Q9 TR R TR sarsr Bree o 3R s A wRfee ger §2

e V171,590

X 221,500
X 3. 21,560
X 421,480
Question ID : 4244291374
Status : Answered
Chosen Option : 1
1 -
I x+-=5x+0%¢, a’rz——"—mrma'%
X XF3X+1
Q.20
Ans x 1. 65
X2 60
X3 50

v . 55

Question ID : 4244291381
Status : Answered
Chosen Option : 4




AT 7 vF TG 17,000 # Fh 3R @ A & ¥ @f g8 o 3w 3 28,750 F A= e, A 3W
gr%eﬁrrrfe‘ré:;ﬁ:r—a’rméazmmgmaan 10% omsT 5o o & o 39§59 a%g &1 e
e T AT AgT?

Q.21
e X 1. 27,800
X 2. 28,400
X 2 28,000

v 4 28,800

Question ID : 4244291372
Status : Answered
Chosen Option : 4

A 3R B R 1 = gu Ol F1 # 30%, 6 Re & o W @ 81 B IR 3W FA F 25
Q.22 & F T F T B I FH F b T A H A F e e e

Ans X1' 80 %?
v 2100 R=

X3 75 &=
X 4 60 &=

Question ID : 4244291366
Status : Answered
Chosen Option : 2

AT IE-3RE # 3Head wY AR T 70 99 7 3ea} &

IE-3MW ¥ 2018 F T Fuar 7 9ot =77 (Ifaed v == 7 A, B, C, D IRE W
AT F1

N

8%

7 7§ 2018 & A W 2165 Fz T v 710, & 3@ I g T T (F4F 2 H) frcar gem?

Q.23
ans ¥ 12300
X 2. 3400
X 3. 3350
X 43320

Question ID : 4244291388
Status : Answered
Chosen Option : 1




T AR 39 AT R AeT $H TR F AfRT W € F 5§ g5 W 15% 97 & F A6 ofr, 3o
Q.24 27.5% T AT TI°F AT 1 TR AT F FT FeF 2200 ¢, A 3HHT AR 7T &

ans #S 1. 2350
v 2 3300

X 3. 3250
X 1. 3400

Question ID : 4244291370

Status : Answered

Chosen Option: 2




Q.25 ox =mfem 7 5 G 7 35 km F1 g 77 F1 Fo g 4 kmh F T & Ew v @ Fr gl wnfea
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Question ID : 4244291367
Status : Answered
Chosen Option : 3

Section : General Awareness

Q1 fFofafea A & 5w s ot yrama werEn midt gRT 1930 & B 7E Hi?
Ans 1. 3RIEUNT ficia
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X 3. faamwa sides
W 4. SfaTa s/ sicie

Question ID : 4244291408
Status : Answered
Chosen Option : 4
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Question ID : 4244291401
Status : Answered
Chosen Option : 3
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X 3. goREd
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Question ID : 4244291410
Status : Answered
Chosen Option : 4
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X 4 siqard ot

Question ID : 4244291415
Status : Answered
Chosen Option : 1
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Question ID : 4244291393
Status : Answered
Chosen Option : 3
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Question ID : 4244291405
Status : Answered
Chosen Option : 1
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Question ID : 4244291396
Status : Answered
Chosen Option : 1
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Question ID : 4244291406
Status : Answered
Chosen Option : 3
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Question ID : 4244291412
Status : Answered
Chosen Option : 2
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Question ID : 4244291404
Status : Answered
Chosen Option : 2
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Question ID : 4244291392
Status : Answered
Chosen Option : 1
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Question ID : 4244291411
Status : Answered
Chosen Option : 1
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Question ID : 4244291413
Status : Answered
Chosen Option: 3
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Question ID : 4244291395
Status : Answered
Chosen Option : 3
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Question ID : 4244291398
Status : Answered
Chosen Option : 2
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Question ID : 4244291391
Status : Answered
Chosen Option: 3
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Question ID : 4244291407
Status : Answered
Chosen Option : 2
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Question ID : 4244291394
Status : Not Answered
Chosen Option : --
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Question ID : 4244291400
Status : Answered
Chosen Option : 3
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Question ID : 4244291397
Status : Answered
Chosen Option: 3
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Question ID : 4244291402
Status : Answered
Chosen Option : 4
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Question ID : 4244291399
Status : Answered
Chosen Option : 2
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Question ID : 4244291403
Status : Answered
Chosen Option : 1
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Question ID : 4244291414
Status : Answered
Chosen Option : 1
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Question ID : 4244291409
Status : Answered
Chosen Option : 4




